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 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 19 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| 25 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 
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 Please check that this question paper contains 19 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 25 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minutes time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) `h àíZ-nÌ VrZ ^mJm| _| {d^º$ h¡ – H$, I Am¡a J & 

(ii) ^mJ H$ g^r N>mÌm| Ho$ {bE A{Zdm`© h¡ & 

(iii) narjm{W©`m| H$mo eof ^mJ I Am¡a J _| go H$moB© EH$ ^mJ hb H$aZm h¡ & 

(iv) {H$gr àíZ Ho$ g^r ^mJm| Ho$ CÎma EH$ hr ñWmZ na {b{IE & 

General Instructions : 

(i) This question paper contains three parts A, B and C. 

(ii) Part A is compulsory for all candidates. 

(iii) Candidates can attempt only one part of the remaining parts B and C.  

(iv) All parts of the questions should be attempted at one place. 

^mJ H$ 

(gmPoXmar \$_m] VWm H$ån{Z`m| Ho$ {bE boIm§H$Z) 

PART A 

(Accounting for Partnership Firms and Companies) 

 

1. O~ gmPoXmam| H$s n±yOr ñWmB© hmo Vmo gmPoXmam| Ho$ {bE V¡`ma {H$E OmZo dmbo ImVm| Ho$ Zm_ 
~VmBE & 1 

Name the accounts which are maintained for the partners when capitals 

of the partners are fixed. 

2. Ë`mJ AZwnmV H$m Š`m VmËn`© hmoVm h¡ ? 1 

What is meant by sacrificing ratio ?  

3. ‘àXÎm ny±Or’ H$m Š`m AW© h¡ ? 1 

What is meant by ‘paid up capital’ ? 

4. EH$ gmPoXma Ho$ àdoe Ho$ g_` EH$ \$_© Ho$ ~hrImVm| _| Eogr {H$Ýht Xmo _Xm| Ho$ Zm_ ~VmBE 
{OZ_| g_m`moOZ H$s Amdí`H$Vm hmoVr h¡ & 1 

List any two items that need adjustments in books of accounts of a firm 

at the time of admission of a partner.   

5. ‘Aën-A§eXmZ’ go Š`m Ame` h¡ ? 1 

What is meant by ‘under subscription’ ? 
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6. ‘~ÝY-nÌ (~m±S>)’ H$m AW© ~VmBE & 1 

Give the meaning of a ‘Bond’. 

7. Eogr AdñWm H$s nhMmZ H$s{OE O~ H$moQ>© EH$ gmPoXmar \$_© Ho$ g_mnZ Ho$ {bE AmXoe Xo 
gH$Vm h¡ & 1 

Identify a situation, under which the Court may order for dissolution of a 

partnership firm. 

8. _wHo$e Ed§ a_oe gmPoXma h¢ Omo H«$_e… 2 : 1 Ho$ AZwnmV _| bm^-hm{Z H$m {d^mOZ H$aVo h¢ & 
CÝhm|Zo ê$noe H$mo bm^ _| 1/4 ^mJ Ho$ {bE \$_© _| gmPoXma Ho$ ê$n _| àdoe {X`m, Bg Jma§Q>r 
Ho$ gmW {H$ CgH$m bm^ _| {hñgm H$_-go-H$_ < 55,000 µOê$a hmoJm & \$_© H$m 31 _mM©, 
2013 H$mo g_mßV hmoZo dmbo df© H$m ewÕ bm^ < 1,60,000 Wm & bm^-hm{Z {d{Z`moOZ 
ImVm V¡`ma H$s{OE & 3 

Mukesh and Ramesh are partners sharing profits and losses in the ratio 

of 2 : 1 respectively. They admit Rupesh as partner with 1/4 share in 

profits with guarantee that his share of profit shall be at least < 55,000. 

The net profit of the firm for the year ending 31st March, 2013 was < 

1,60,000. Prepare Profit and Loss Appropriation Account. 

9. \o$Zm {b{_Q>oS Zo < 100 àË`oH$ Ho$ < 7,00,000 Ho$ 12% G$UnÌm|, H$m 5% àr{_`_ na 
{ZJ©_Z {H$`m, {OZH$m emoYZ 20% àr{_`_ na hmoZm Wm & G$UnÌm| Ho$ {ZJ©_Z Ho$ g_` 
Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE & 3 

Fena Ltd. issued < 7,00,000 12% debentures of < 100 each at a premium 

of 5% redeemable at a premium of 20%. Pass necessary journal  entries at 

the time of issue of debentures. 

10. Ama {b{_Q>oS> Zo < 100 àË`oH$ Ho$ 2000, 8% G$UnÌm| H$m emoYZ, Omo g_-_yë` na 
{ZJ©{_V {H$E JE Wo, < 100 àË`oH$ Ho$ g_Vm A§em| H$mo 25% A{Y_yë` na {ZJ©{_V H$aHo$, 
n[adV©Z Ûmam {H$`m & 

 Ama {b{_Q>oS> H$s nwñVH$m| _| Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE & 3 

R Ltd.  redeemed 2000, 8% debentures of < 100 each which were issued 

at par by converting them into equity shares of < 100 each issued at a 

premium of 25%. 

Pass necessary journal entries in the books of R Ltd.  
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11. (H$) Ho$, Eb VWm O¡S> gmPoXma h¢ Omo bm^m| H$mo H«$_e… 4 : 3 : 2 Ho$ AZwnmV _| {d^m{OV 
H$aVo h¢ & Eb Zo AdH$me bo {b`m VWm AnZo A§e Ho$ bm^ H$m 1/9 ^mJ ‘Ho$’ Ho$ 
nj _|§ Ë`mJm VWm eof H$mo O¡S> Ho$ nj _| Ë`mJm & Ho$ VWm O¡S> Ho$ ZE bm^ {d^mOZ 
AZwnmV H$s JUZm H$s{OE & 

(I) AéZ, déZ VWm MaZ> gmPoXma h¢ Omo bm^m| H$mo H«$_e: 1/2, 3/10 VWm 1/5  Ho$ 
AZwnmV _| {d^m{OV H$aVo h¢ & déZ \$_© go AdH$me J«hU H$aVm h¡ VWm AéZ VWm 
MaZ> ^{dî` Ho$ bm^m| H$mo 3 : 2 Ho$ AZwnmV _§o {d^m{OV H$aZo H$m {ZíM` H$aVo h¢ & 
AéZ VWm MaZ> H$m A{Ybm^ AZwnmV kmV H$s{OE &  2+2=4  

(a) K, L and Z are partners sharing profits in the ratio of 4 : 3 : 2 

respectively. L retired and surrendered 1/9th of his share of profit 

to K and remaining in favour of Z. Calculate the new profit sharing 

ratio of K and Z. 

(b) Arun, Varun and Charan are partners sharing profits in the ratio 

of 1/2, 3/10 and 1/5 respectively. Varun retired from the firm and 

Arun and Charan decided to share future profits in 3 : 2 ratio. 

Calculate gaining ratio of Arun and Charan. 

12. EŠg {b{_Q>oS> Zo Or {b{_Q>oS> go < 18,00,000 _| EH$ Mmby ì`dgm` IarXm {OgH$m 
^wJVmZ < 100 àË`oH$ Ho$ g_Vm A§em| H$mo < 20 à{V A§e àr{_`_ na {ZJ©{_V H$aHo$ {H$`m 
OmZm h¡ & gån{Îm`m| VWm Xm{`Ëdm| _| {ZåZ{b{IV gpå_{bV Wm : 

g§`§Ì – < 3,50,000: ^y{_ – < 6,00,000  

ñH$ÝY – < 4,50,000 VWm boZXma – < 1,00,000 

 Cn`w©º$ boZXoZm| Ho$ {bE EŠg {b{_Q>oS> H$s nwñVH$m| _| Amdí`H$ amoµOZm_Mm à{dpîQ>`m± 
H$s{OE & 4 

X Ltd. purchased a running business from G Ltd. for a sum of  

< 18,00,000 payable by issue of equity shares of < 100 each at a premium 

of < 20 per share. The assets and liabilities consisted of the following : 

 Plant – < 3,50,000 : Land – < 6,00,000 

 Stock – < 4,50,000 and Creditors – < 1,00,000 

Pass necessary journal entries in the books of X Ltd. for the above 

transactions.  

13. {hZm Ed§ ZraOm EH$ \$_© _| gmPoXma Wt VWm 3 : 2 Ho$ AZwnmV _| bm^ H$m {d^mOZ H$aVr 
Wt & CZH$s ny±Or H«$_e: < 80,000 VWm < 50,000 Wr &  1 OZdar, 2013 H$mo CÝhm|Zo 
gr_m H$mo ^mdr bm^m| _| 1/5 ^mJ Ho$ {bE ZE gmPoXma Ho$ ê$n _| \$_© _| àdoe H$am`m & 
gr_m AnZr ny±Or Ho$ ê$n _| < 60,000 bmB© & \$_© H$s »`m{V Ho$ _yë` H$s JUZm H$s{OE 
VWm gr_m Ho$ àdoe na Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE & 4 
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Hina and Neerja were partners in a firm sharing profits in the ratio of  

3 : 2. Their capitals were < 80,000 and < 50,000 respectively. They 

admitted Seema in the firm on 1st January, 2013 as a new partner for 1/5 

share in the future profits. Seema brought < 60,000 as her capital. 

Calculate the value of goodwill of the firm and record necessary journal 

entries on Seema’s admission. 

14. ~ {b{_Q>oS> H$m n§Or`Z < 20,00,000 H$s A{YH¥$V n±yOr go hþAm Omo < 10 àË`oH$ Ho$ 
g_Vm A§em| _| {d^º$ Wr & H$ånZr Zo 1,00,000 A§em| Ho$ {ZJ©_Z Ho$ {bE AmdoXZ 
Am_pÝÌV {H$E & 96,000 A§em| Ho$ {bE AmdoXZ àmá hþE & g^r `mMZm am{e _m±J br JB© 
VWm àmá hmo JB© Ho$db 2,000 A§em| H$mo N>mo‹S>H$a {OZ na < 2 à{V A§e H$s A§{V_ `mMZm 
am{e Zht {_br & BZ g^r A§em| H$mo µOãV H$a {b`m J`m VWm ~mX _| < 18,000 na nyU© 
àXÎm nwZ: {ZJ©{_V H$a {X`m J`m &   

(i) H$ånZr A{Y{Z`_, 1956 H$s gmaUr VI, ^mJ I Ho$ AZwgma ~ {b{_Q>oS> Ho$ pñW{V 
{ddaU _| ‘A§e ny±Or’ H$mo {H$g àH$ma Xem©`m OmEJm ?$ 

(ii) Cn`w©º$ Ho$ {bE ‘ImVm| Ho$ ZmoQ²>g’ ^r V¡`ma H$s{OE &  4 

B Ltd. was registered with an authorised capital of < 20,00,000 divided 

into equity shares of < 10 each. The company invited applications for the 

issue of 1,00,000 shares. Applications for 96,000 shares were received. All 

calls were made and were duly received except the final call of < 2 per 

share on 2,000 shares. All these shares were forfeited and later on  

re-issued at < 18,000 as fully paid. 

(i) Show how ‘Share Capital’ will appear in the Balance Sheet of 
B Ltd. as per Schedule VI, Part I of the Companies Act, 1956. 

(ii) Also prepare ‘Notes to Accounts’ for the same. 

15. H$, I VWm J gmPoXma Wo & CÝhm|Zo C‹S>rgm Ho$ EH$ XÿadVu Am{Xdmgr joÌ _| ì`mnma àmaå^ 
{H$`m & CZH$r A{^é{M Am{Xdmgr g_wXm` Ho$ e¡j{UH$ Ed§ ñdmñÏ` g§~§Yr {dH$mg _| Wr & 

 31 _mM©, 2013 H$mo bm^m| VWm AmhaUm| H$m g_m`moOZ H$aZo Ho$ CnamÝV CZH$s ny±Or Wr  
H$ – < 4,00,000, I – < 3,00,000 VWm J – < 2,00,000 & gmPoXmam| Ho$ AmhaU Wo  
H$ – < 4,000 à{V _mh, I – < 3,000 à{V _mh Am¡a J – < 2,000 à{V _mh & 

 31 _mM©, 2013 H$mo g_má hþE df© H$m \$_© H$m bm^ < 6,00,000 Wm & VXþnamÝV `h XoIm 
J`m {H$ ny±Or na 6% à{V df© H$s Xa go Xo` ã`mO bJZm ah J`m & 

 AnZr H$m`© {Q>ßnUr H$mo ñnîQ>V`m {XIbmVo hþE Cn`w©º$ Ho$ {bE Amdí`H$ g_m`moOZ à{dpîQ> 
H$s{OE & Cn ẁ©º$ àíZ _| COmJa {H$E hþE {H$Ýht Xmo _yë`m| H$s nhMmZ ^r H$s{OE & 6 
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A, B and C were partners. They started business in one of the remote 

tribal areas of Orissa. They were interested in the development of the 

tribal community by providing good education and health. 

On 31st March, 2013, after making adjustments for profits and drawings 

their capitals were A – < 4,00,000, B – < 3,00,000 and C – < 2,00,000. 

The drawings of the partners were A – < 4,000 per month,  

B – < 3,000 per month and C – < 2,000 per month.  

The profit of the firm for the year ended 31st March, 2013 was 

< 6,00,000. Subsequently it was found that the interest on capital 

@ 6% p.a due had been omitted. 

Showing your working notes clearly, pass necessary adjustment entry for 

the above. Also identify any two values highlighted in the above question. 

16. am_, ahr_ VWm am°~Q>© gmPoXma Wo Omo bm^m| H$mo H«$_e: 2 : 3 : 1 Ho$ AZwnmV _| {d^m{OV 
H$aVo Wo & gmPoXmar g§boI Ho$ AZwgma {H$gr ^r gmPoXma H$s _¥Ë`w hmoZo na CgHo$ {hñgo Ho$ 
ny±Or ImVo H$s eof am{e OZOmVr` joÌ _| EH$ Am¡fYmb` {Z_m©U Ho$ {bE XmZ _| Xo Xr  
OmEJr & 

 ~r_mar Ho$ H$maU 30 {gVå~a, 2013 H$mo am°~Q>© H$s _¥Ë ẁ hmo JB© &  31 _mM©, 2013 H$mo am_, 
ahr_ VWm am°~Q>© H$m pñW{V-{ddaU {ZåZmZwgma Wm : 

pñW{V-{ddaU 31.3.2013 

Xo`VmE± 
am{e 
< 

gån{Îm`m±  
am{e 
< 

n±yOr :    

      am_ 1,00,000 amoH$‹S> 14,000 

      ahr_ 2,00,000 ~¢H$ 2,96,000 

      am°~Q>© 3,00,000 ñH$ÝY 80,000 

boZXma 3,60,000 XoZXma 3,00,000 

H$_©Mmar j{Vny{V© {Z{Y 20,000 {d{Z`moJ 50,000 

g§{X½Y G$Um| Ho$ {bE Am`moOZ 10,000 ^y{_ 2,50,000 

 9,90,000  9,90,000 
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 30 {gVå~a, 2013 AWm©V² am°~Q>© H$s _¥Ë`w Ho$ {XZ {ZåZ{b{IV na gh_{V hþB© : 

(i) »`m{V H$m _yë`m§H$Z {nN>bo VrZ dfm] Ho$ Am¡gV bm^ Ho$ Xmo JwZo Ho$ ~am~a  
hmoJm, Omo 2010-2011 _| < 45,000, 2011-2012 _| < 90,000 VWm  
2012-2013 _| < 1,35,000 Wo & 

(ii) _¥Ë`w Ho$ {XZ VH$ am°~Q>© Ho$ bm^ Ho$ A§e H$s JUZm {nN>bo VrZ dfm©o Ho$ Am¡gV bm^ 
Ho$ AmYma na H$s OmEJr & 

(iii) ^y{_ H$m < 25,000 H$_ na _yë`m§H$Z hþAm VWm ñH$ÝY H$m < 8,000 A{YH$ na 
_yë`m§H$Z hþAm & 

(iv) XoZXmam| na g§{X½Y G$Um| Ho$ {bE 5% H$s Xa go Am`moOZ {H$`m J`m & 

(v) H$_©Mmar j{Vny{V© Ho$ Xmdo H$m AZw_mZ < 5,000 bJm`m J`m & 

 am°~Q>© Ho$ {ZînmXH$m| H$mo àñVwV {H$E OmZo dmbm CgH$m ny±Or ImVm V¡`ma H$s{OE VWm am_, 
ahr_ VWm am°~Q>© g_mO H$mo Omo _yë` gåào{fV H$aZm MmhVo h¢ CgH$s nhMmZ ^r H$s{OE & 6 

Ram, Rahim and Robert were partners sharing profits in 2 : 3 : 1 ratio 

respectively. The partnership deed provided that in case of death of a 

partner the deceased partner’s share of capital will be donated for the 

construction of a hospital in the tribal area.  

Due to ill health Robert died on 30th September, 2013. The Balance Sheet 

of Ram, Rahim and Robert on 31st March, 2013 was as follows : 

Balance Sheet as at 31.3.2013 

Liabilities 
Amount 

< Assets 
Amount 

< 

Capitals :    

       Ram 1,00,000 Cash 14,000 

       Rahim 2,00,000 Bank  2,96,000 

       Robert 3,00,000 Stock 80,000 

Creditor 3,60,000 Debtors 3,00,000 

Workmen’s Compensation Fund 20,000 Investments 50,000 

Provision for doubtful debts 10,000 Land 2,50,000 

 9,90,000  9,90,000 
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On the date of Robert’s death i.e. 30th September, 2013, the following was 

agreed upon : 

(i) Goodwill is to be valued at two years’ purchase of average  

profits of last three completed years i.e. 2010-2011 – < 45,000;  

2011-2012 –  < 90,000 and 2012-2013 –  < 1,35,000. 

(ii) Robert’s share of profits till the date of his death will be calculated 

the basis of average profits of last three years. 

(iii) Land was undervalued by < 25,000  and stock overvalued by  

< 8,000. 

(iv) Provision for doubtful debts is to be made at 5% of Debtors. 

(v) Claim of workmen compensation estimated at < 5,000.  

Prepare Robert’s capital account to be presented to his executors. Also 

identify a value that Ram, Rahim and Robert wanted to communicate to 

the society.  

17. S>ãë`y VWm Ama EH$ \$_© _| gmPoXma Wo Omo bm^m| H$mo H«$_e: 3 : 2 Ho$ AZwnmV _| {d^m{OV 
H$aVo Wo & 31 _mM©, 2013 H$mo CZH$m pñW{V-{ddaU {ZåZmZwgma Wm : 

S>ãë`y VWm Ama H$m pñW{V-{ddaU 31 _mM©, 2013 

Xo`VmE± 
am{e 
< 

gån{Îm`m±  
am{e 
< 

  amoH$‹S> 2,500 

boZXma 17,500 XoZXma      10,000  

  
(–) Sy>~V G$U     

Am`moOZ       350 
 

9,650 

{d{Z`moJ KQ>V-~‹T>V {Z{Y 4,000 ñH$ÝY 12,500 

n±yOr :  g§`§Ì 17,500 

     S>ãë`y 20,000 noQ>oÝQ²>g 10,350 

     Ama 15,000 {d{Z`moJ  10,000 

~¢H$ G$U 10,000 »`m{V 4,000 

 66,500  66,500 
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 ~r H$mo {ZåZ eVm] na Z`o gmPoXma Ho$ ê$n _| àdoe {X`m J`m : 

(i) ~r bm^m| Ho$ 4/15d| ^mJ H$m A{YH$mar hmoJm & 

(ii) ~r AnZo ^mJ H$s ny±Or Ho$ ê$n _| < 15,000 ZH$X bmEJm & 

(iii) {nN>bo Mma dfm] Ho$ Am¡gV bm^ Ho$ 
2

1
2  JwZo _yë` Ho$ ~am~a »`m{V H$m _yë`m§H$Z 

hmoJm & ~r AnZo {hñgo H$s »`m{V ZH$X bmEJm & 

(iv) 31 _mM©, 2010, 2011, 2012 VWm 2013 H$mo g_má hþE dfmªo Ho$ \$_© Ho$ bm^  
H«$_e: < 10,000; < 7,000; < 8,500; VWm < 7,500 Wo & 

(v) ñH$ÝY H$m _yë`m§H$Z < 10,000 Wm VWm g§{X½Y G$Um| Ho$ {bE Am`moOZ H$mo  
< 500 VH$ ~‹T>m`m J`m & 

(vi) g§`§Ì H$m nwZ_y©ë`m§H$Z < 20,000 na {H$`m J`m & 

 nwZ_y©ë`m§H$Z ImVm, gmPoXmam| Ho$ ny±Or ImVo VWm ZB© \$_© H$m pñW{V-{ddaU V¡`ma H$s{OE & 8 

AWdm 

 Hw$_ma, í`m_ VWm aVZ EH$ \$_© _| gmPoXma Wo Omo bm^m| H$mo H«$_e… 5 : 3 : 2 Ho$ AZwnmV _| 

{d^m{OV H$aVo Wo & 01-04-2013 go CÝhm|Zo \$_© H$mo {dK{Q>V H$aZo H$m {ZíM` {H$`m & Cg 

{XZ \$_© H$m pñW{V-{ddaU {ZåZ{b{IV Wm : 

pñW{V-{ddaU 01-04-2013 

Xo`VmE± 
am{e 
< 

gån{Îm`m±  
am{e 
< 

n±yOr :    

      Hw$_ma 68,000 g§`§Ì 80,000 

      í`m_ 50,000 \$ZuMa 45,000 

      aVZ 27,000 _moQ>a d¡Z 25,000 

boZXma 1,20,000 ñH$ÝY 30,000 

  XoZXma 71,000 

  amoH$‹S> 14,000 

 2,65,000  2,65,000 
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 {dKQ>Z H$m {ZåZ n[aUm_ hþAm : 

(i) < 40,000 _yë` Ho$ g§`§Ìm| H$mo Hw$_ma Zo < 45,000 _§o {b`m VWm eof g§`§Ì H$s 

{~H«$s go < 50,000  àmá hþE & 

(ii) \$ZuMa H$m {dH«$` < 40,000 _§o hþAm & 

(iii) í`m_ Zo _moQ>a d¡Z H$mo < 30,000 _| {b`m & 

(iv) XoZXmam| go < 1,000 H$_ dgyb hþE & 

(v) < 20,000 Ho$ boZXma Ty>± ‹T>Zo na ^r Zht {_bo VWm eof boZXmam| H$mo nyam ^wJVmZ H$a 

{X`m J`m & 

(vi) dgybrH$aU ì`` < 5,000 Wo & 

 \$_© H$m dgybr ImVm, gmPoXmam| Ho$ ny±Or ImVo VWm ~¢H$ ImVm V¡`ma H$s{OE & 

 

W and R were partners in a firm sharing profits in the ratio of 3 : 2 

respectively. On 31st March, 2013, their Balance Sheet was as follows : 

Balance Sheet of W and R as on 31st March, 2013 

Liabilities 
Amount 

< Assets 
Amount 

< 

  Cash 2,500 

Creditors 17,500 Debtors           10,000  

  
(–) Provision for  

bad debts             350 

 

9,650 

Investment 

Fluctuation Fund 
4,000 Stock 12,500 

Capitals :  Plant 17,500 

               W 20,000 Patents 10,350 

                R 15,000 Investments 10,000 

Bank loan 10,000 Goodwill 4,000 

 66,500  66,500 
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B was admitted as a new partner on the following conditions : 

(i) B will get 4/15th share of profits. 

(ii) B had to bring < 15,000 as his capital. 

(iii) B would pay cash for his share of goodwill based on 
2

1
2   years 

purchase of average profit of last 4 years. 

(iv) The profits of the firm for the years ending 31st March, 2010, 2011, 

2012 and 2013 were < 10,000; < 7,000; < 8,500; and < 7,500 

respectively. 

(v) Stock was valued at < 10,000 and provision for doubtful debts was 

raised up to < 500. 

(vi) Plant was revalued at < 20,000. 

Prepare Revaluation Account, Partners’ Capital A/cs and the  

Balance Sheet of the new firm. 

OR 

Kumar, Shyam and Ratan were partners in a firm sharing profits in the 

ratio of 5 : 3 : 2 respectively. They decided to dissolve the firm with effect 

from 01-04-2013. On that date the Balance Sheet of the firm was as 

follows : 

Balance Sheet as at 01.04.2013 

Liabilities 
Amount 

< Assets 
Amount 

< 

Capitals :    

        Kumar 68,000 Plant 80,000 

        Shyam 50,000 Furniture 45,000 

        Ratan 27,000 Motor van 25,000 

Creditors  1,20,000 Stock 30,000 

  Debtors 71,000 

  Cash 14,000 

 2,65,000  2,65,000 
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The dissolution resulted in the following : 

(i) Plant of < 40,000 was taken over by Kumar at an agreed value of 

< 45,000 and remaining plant realised < 50,000. 

(ii) Furniture realised < 40,000. 

(iii) Motor van was taken over by Shyam for < 30,000. 

(iv) Debtors realised < 1,000 less. 

(v) Creditors for < 20,000 were untraceable and the remaining 

creditors were paid in full. 

(vi) Realisation expenses amounted to < 5,000.  

 Prepare the Realisation Account, Capital Accounts of Partners and Bank 

Account of the firm. 

18. ^JdVr {b{_Q>oS> Zo < 10 àË`oH$ Ho$ 2,00,000 g_Vm A§em| Ho$ {ZJ©_Z hoVw AmdoXZ 
Am_pÝÌV {H$E & am{e`m± {ZåZmZwgma Xo` Wt : 

  AmdoXZ na – < 3 à{V A§e 

  Am~ÝQ>Z na – < 5 à{V A§e 
  àW_ Ed§ ApÝV_ `mMZm na – < 2 à{V A§e  

 3,00,000 A§em| Ho$ {bE AmdoXZ àmá hþE VWm g^r AmdoXH$mo§ H$mo AmZwnm{VH$ ê$n _| A§em| 

H$m Am~ÝQ>Z H$a {X`m J`m & AmdoXZ na àmá A{V[aº$ YZam{e H$mo Am~ÝQ>Z am{e _| 

g_m`mo{OV H$a {b`m J`m & ~r, {Ogo 3,000 A§em| H$m Am~ÝQ>Z {H$`m J`m Wm, àW_ Ed§ 

ApÝV_ `mMZm am{e H$m ^wJVmZ H$aZo _| Ag\$b ahm & CgHo$ A§e µOãV H$a {bE JE & 

µOãV {H$E hþE A§emo§ _| go 2,500 A§em| H$mo < 8 à{V A§e H$s Xa go nyU© àXÎm nwZ: {ZJ©{_V 

H$a {X`m J`m & 
 Cn`w©º$ boZXoZm| Ho$ boIm§H$Z Ho$ {bE ^JdVr {b{_Q>oS> H$s nwñVH$m| _| Amdí`H$ amoµOZm_Mm 

à{dpîQ>`m± H$s{OE & 8 

AWdm 

(H$) EH$ H$ånZr Zo < 20 àË`oH$ Ho$ 200 A§em| H$mo µOãV {H$`m, {OZ na < 15 à{V 
A§e _m±Jo JE Wo VWm < 10 à{V A§e H$m ^wJVmZ àmá hmo MwH$m Wm & g§MmbH$m| Zo 
µOãV {H$E hþE g^r A§em| H$mo < 10 à{V A§e Ho$ ^wJVmZ na < 15 à{V A§e àXÎm 
_mZVo hþE ~r H$mo nwZ… {ZJ©{_V H$a {X`m & H$ånZr H$s nwñVH$m|o _| A§em| Ho$ µOãV 
H$aZo VWm nwZ… {ZJ©_Z H$aZo H$s amoµOZm_Mm à{dpîQ>`m± H$s{OE & 
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(I) E {b{_Q>oS> Zo àË`oH$ < 10 A§{H$V _yë` Ho$ 100 g_Vm A§em| H$mo µOãV {H$`m, {OZ  
na < 2 à{V A§e àW_ `mMZm H$m ^wJVmZ àmá Zht hþAm Wm & BZ A§em| na   
< 6 à{V A§e H$m ^wJVmZ _m±Jm J`m Wm Am¡a àmá hmo MwH$m Wm & VXþnamÝV BZ 
A§em§o H$mo < 7 à{V A§e Ho$ ŵJVmZ na nyU© àXÎm ê$n _| nwZ… {ZJ©{_V H$a {X`m 
J`m & H$ånZr H$s nwñVH$m| _| A§em| H$mo µOãV H$aZo VWm nwZ… {ZJ©_Z H$aZo H$s 
amoµOZm_Mm à{dpîQ>`m± H$s{OE & 

 
Bhagwati Ltd. invited applications for issuing 2,00,000 equity shares of  

< 10 each. The amounts were payable as follows : 

 On application – < 3 per share 

 On allotment – < 5 per share 

 On first and final call – < 2 per share 

Applications were received for 3,00,000 shares and pro-rata allotment 

was made to all the applicants. Money overpaid on application was 

adjusted towards allotment money. B, who was allotted 3,000 shares, 

failed to pay the first and final call money. His shares were forfeited. Out 

of the forfeited shares, 2,500 shares were reissued as fully paid up @ < 8 

per share. 

Pass necessary journal entries to record the above transactions in the 

books of Bhagwati Ltd. 

OR 

(a) A company forfeited 200 shares of < 20 each, < 15 per share called 

up on which < 10 per share had been paid. Directors reissued all 

the forfeited shares to B as < 15 per share paid up for a payment 

of < 10 each. Give journal entries in the books of the company for 

forfeiture and reissue of shares. 

(b) A Ltd. forfeited 100 equity shares of the face value of < 10 each, 

for the non-payment of first call of < 2 per share. < 6 per share 

had already been called and paid. These shares were subsequently 

reissued as fully paid at the rate of < 7 per share. Give journal 

entries in the books of the company for forfeiture and reissue of 

shares.  
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^mJ I 

({dÎmr` {ddaUm|  H$m {díbofU) 

 PART B 

                                      (Financial Statements Analysis)  

19. ‘amoH$‹S> àdmh {ddaU’ go Š`m VmËn`© h¡ ? 1 
What is meant by ‘Cash Flow Statement’ ?  

20. {dÎmr` {ddaUm| Ho$ {díbofU  Ho$ {H$Ýht Xmo CnH$aUm| Ho$ Zm_ ~VmBE & 1 
Name any two tools of analysis of financial statements. 

21. amoH$‹S> àdmh {ddaU V¡`ma H$aVo g_` EH$ {dÎmr` H$ånZr Ûmam {H$E JE bm^m§e ^wJVmZ H$mo 
{H$g àH$ma H$s J{V{d{Y Ho$ AÝVJ©V dJuH¥$V {H$`m OmVm h¡ ? 1 
Dividend paid by a financial company is classified under which type of 

activity, while preparing cash flow statement ? 

22. H$ånZr  A{Y{Z`_, 1956  H$s n[aemo{YV  gmaUr VI ^mJ I Ho$ AZwgma H$ånZr Ho$ pñW{V 
{ddaU _| {ZåZ{b{IV _X| {H$g _w»` erf©H$ Ho$ AÝVJ©V Xem©B© OmE±Jr : 3 

(i) Q´>oS> _mŠg© 

(ii) ny±Or emoYZ g§M` 

(iii) A{J«_ àmá Am` 

(iv) ñQ>mog© Ed§ ñno`g© 

(v) H$m`m©b` CnH$aU 

(vi) Mmby {d{Z`moJ 

State under which major headings  the following items will be presented 

in the Balance Sheet of a company as per revised Schedule VI Part I of 

the Companies Act, 1956 : 

(i) Trade Marks 

(ii) Capital Redemption Reserves  

(iii) Income received in advance 

(iv) Stores and Spares 

(v) Office Equipments  

(vi) Current Investments 
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23. {ZåZ{b{IV go JUZm H$s{OE :  

(A) àMmbZ bm^ AZwnmV; VWm  

(~) H$m`©erb n±yOr AmdV© AZwnmV &  2+2=4 

   am{e (<) 
(i) àMmbZ go AmJ_ 2,00,000 

(ii) gH$b bm^ 75,000 

(iii) H$m`m©b` ì`` 15,000 

(iv) {dH«$` ì`` 26,000 

(v) G$UnÌm| na ã`mO 5,000 

(vi) XþK©Q>ZmË_H$ hm{Z`m± 12,000 

(vii) {H$am`o go Am` 2,500 

(viii) àmá H$_reZ 2,000 

(ix) Mmby gån{Îm`m± 60,000 

(x) Mmby Xo`VmE± 10,000  

From the following calculate : 

(a) Operating Profit Ratio; and  

(b) Working Capital Turnover Ratio. 

   Amount (<) 

(i) Revenue from operations 2,00,000 

(ii) Gross Profit 75,000 

(iii) Office Expenses 15,000 

(iv) Selling Expenses 26,000 

(v) Interest on Debentures 5,000 

(vi) Accidental Losses 12,000 

(vii) Income from Rent 2,500 

(viii) Commission Received 2,000 

(ix) Current Assets 60,000 

(x) Current Liabilities 10,000 
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24. 31 _mM©, 2012 VWm 2013 Ho$ {ZåZ{b{IV bm^-hm{Z {ddaUm| go CÕ[aV gyMZm Ho$ AmYma 

na VwbZmË_H$ bm^-hm{Z {ddaU V¡`ma H$s{OE : 4 

 

{ddaU ZmoQ> g§»`m 31.03.2013 31.03.2012 

àMmbZ go AmJ_  30,00,000 20,00,000 

ì``  21,00,000 12,00,000 

AÝ` Am`  3,60,000 4,00,000 

H$a Xa  50% 50% 

 

On the basis of the following information extracted from the Statement of 

Profit and Loss for the year ended 31st March, 2012 and 2013, prepare a 

Comparative Statement of Profit and Loss : 

 

Particulars Note No. 31.03.2013 31.03.2012 

Revenue from operations  30,00,000 20,00,000 

Expenses  21,00,000 12,00,000 

Other Income  3,60,000 4,00,000 

Tax Rate  50% 50% 
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25. {ZåZ{b{IV pñW{V {ddaUm| go amoH$‹S> àdmh {ddaU V¡̀ ma H$s{OE :  6 

 
 

{ddaU 
ZmoQ> 

g§»`m 
31.3.2013 

< 
31.3.2012 

< 

I – g_Vm VWm Xo`VmE± :    

1. A§eYmar$ {Z{Y :    

 (A)  A§e ny±Or  6,00,000 5,00,000 

 (~)  g§M` Ed§ Am{YŠ` 1 4,00,000 2,00,000 

2. Mmby Xo`VmE± :    

 ì`mnm[aH$ Xo`VmE±  2,80,000 1,80,000 

                                                  Hw$b  12,80,000 8,80,000 

II – n[agån{Îm`m± :    

1. AMb n[agån{Îm`m± :    

 (A)  ñWm`r n[agån{Îm`m± :    

       g§`§Ì Ed§ _erZar  5,00,000 3,00,000 

2. Mmby n[agån{Îm`m± :    

 (A)  ñH$ÝY  1,00,000 1,50,000 

 (~)   ì`mnm[aH$ àm{á`m±  6,00,000 4,00,000 

 (g)   amoH$‹S> VWm amoH$‹S> Vwë`  80,000 30,000 

                                                  Hw$b  12,80,000 8,80,000 

ImVm| Ho$ ZmoQ²>g 
ZmoQ> g§»`m$ 1 

{ddaU 
31.3.2013 

< 
31.3.2012 

< 

g§M` Ed§ Am{YŠ` 
Am{YŠ` (bm^-hm{Z {ddaU H$m eof) 

4,00,000 2,00,000 

 A{V[aº$ gyMZm : 

(i) EH$ nwamZr _erZar H$mo, {OgH$m nwñVH$ _yë` < 50,000 Wm, < 60,000 _§oo ~oM 

{X`m J`m & 

(ii) df© Ho$ Xm¡amZ _erZar na < 30,000 H$m _yë`õmg àXmZ {H$`m J`m & 
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 Prepare a Cash Flow Statement from the  following Balance Sheet : 

 
 

Particulars  
Note 

No. 

31.3.2013 

< 
31.3.2012 

< 

I – Equity and Liabilities :    

1. Shareholder’s Fund :    

 (a)  Share Capital  6,00,000 5,00,000 

 (b)  Reserves and Surplus 1 4,00,000 2,00,000 

2. Current Liabilities  :    

 Trade Payables  2,80,000 1,80,000 

                                            Total  12,80,000 8,80,000 

II – Assets :    

1. Non-Current Assets :    

 (a)  Fixed Assets :    

        Plant and Machinery  5,00,000 3,00,000 

2. Current Assets :    

 (a)   Inventories  1,00,000 1,50,000 

 (b)   Trade Receivables  6,00,000 4,00,000 

 (c)   Cash and Cash Equivalents  80,000 30,000 

                                           Total  12,80,000 8,80,000 

 

Notes to Accounts 

Note No. 1 

Particulars 
31.3.2013 

< 
31.3.2012 

< 

Reserves and Surplus 

Surplus (Balance in Statement of Profit & Loss) 
4,00,000 2,00,000 

Additional Information : 

(i) An old machinery having book value of < 50,000 was sold for  

< 60,000.  

(ii) Depreciation provided on Machinery during the year was < 30,000. 
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     ^mJ J 

(A{^H${bÌ boIm§H$Z) 
       PART C 

        (Computerised Accounting) 

 

19. A{^H${bÌ boIm§H$Z àUmbr Ho$ KQ>H$ Š`m h¢ ? 1 
What are the components of Computerised Accounting System ? 

20. g§{hVmH$aU _| EH$ ImVo H$mo Am~§{Q>V 5 go 7 A§H$ Ûmam Š`m Xem©`m OmVm h¡ ? 1 

What is represented by the 5th to 7th digits allotted to an account in 

codification ? 

21. g§~§YmË_H$ ({ddoH$nyU©) S>mQ>m~og Š`m h¡ ? 1 
What is relational database ? 

22. A{^H${bÌ boIm§H$Z àUmbr Ho$ {H$Ýht Xmo bjUm| H$mo g_PmBE & 3 
Explain any two features of Computerised Accounting System. 

23. ‘S>mQ>m A§Ho$jU (Am¡{S>Q>)’ VWm ‘S>mQ>m dm°ëQ>’ go Š`m VmËn`© h¡ ? 4 
What is meant by ‘Data Audit’ and ‘Data Vault’ ? 

24. S>mQ>m~og Ho$ CÔoí`m| Ho$ ê$n _§o _mnm§H$, n¥îR>, à{VdoXZ VWm gÝXohm| H$mo g_PmBE & 4 
Explain Modules, Pages, Reports, and Queries as Database objects.  

25. (H$) ñà¡S>erQ Ho$ Cg H$m`© H$m Zm_ ~VmBE VWm g_PmBE Omo Cg à{V^y{V Ho$ {bE 
àmoX²^yV ã`mO H$s JUZm H$aVm h¡ Omo Amd{YH$ ã`mO H$m ^wJVmZ H$aVr h¡ &>  

(I) {ZåZ{b{IV gyMZm go EoŠgob na H$Q>m¡Vr `mo½` H$a H$s JUZm hoVw gyÌ H$s JUZm  
H$s{OE :  

 _yb doVZ < 15,000 VH$ 10% H$s Xa go VWm Cggo D$na 15% H$s Xa go & 4+2=6 

(a) Name and explain the function of spreadsheet which calculates on 

the accrued interest for security that pays periodic interest. 

(b) Calculate the formula from the following information on Excel for 

computing Tax Deductible : 

 Basic Salary up to < 15,000 at 10% and above it at 15%. 


